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This question booklet is divided into
two sections — Section-A and
Section-B.
In Section-A, there are
100 objective type questions, oul
of which any S50 gquestions
are to be answered First
50 answers will be evaluated in
ocase more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue / black
dall pen agains! the correct option
on OMR Answer sheet provided 10
you. Do not use whitener / Hgquid
/ blade [ nail ete. on OMR-sheet,
otherwise the resuit will be
treatad invalid.

' Jn Section-B, there are 30 short

answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are & long answer type
questions, out
4 questions are to be answered.
Each question carries 5 marks.

of which any

Use of any electronic appliances is

strictly prohibited.
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(110

uvg - &/ BECTION - A

AW|FTS T¥T / Objective Type Questions
av wemr 18 1007w & Wt & wng Wi frwwy fry & firrd @ v w1

Hsoﬂimwmgﬁwaﬁﬁmdomﬁzwﬁﬁ?i
1] 50 x 1 =50

Question Nos. 1 to 100 have four options, out of which only one ts correct.
Answer any 50 questions. You have to mark your selected option on the
OMR-Sheet. 50x1=50

1. R P[%.*t).ﬁﬁaﬂ A(-6,5)" B(-2,3)® W T [@ES T

c) -4 (D) 4
It P[%, 4] is the mid=point of the linc segment joining the points

A{-6,5)and B(2, 3}, then the valuc of ais

(A) -8 B) 3
c -4 (@) 4
2. wﬁaﬁqﬁgmﬁmﬁ?ﬁmﬂﬁﬁgﬂmmmz’r'n?
(A) 1 B) 2
(C} O o 3

If three points are collinear then what is the arca of the triangle

made by them ?

A) 1 B) 2
Cc 0 o 3
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G
B

[110 ]
af aapc ¥ Wl ¥ B¥wiw A(-1,0), B(5, -2) W@ C(8,2) & @

IF FgF & HewH Bl

(&) (12,0) (B) (6,0)

() (0,6) (D) (4,0)

if A(-1,0), B(5. -2} and C(8, 2) are the vertices of & AABC then
co-ordinates of its centroid are

(A)  (12,0) B) (6,0)

(€1 (0,6) D)y (4,0)

af} Bqm ABC® AD, ZBAC® 3d% R au AB = 10 &, AC= 14 adl,
BC=-6BM A DCHUAE

(A) 2.5 A (B) " 353

(C}  4-5°df g\@@

S
il in MﬂcsﬁJ isthe bisector of ZBAC a.nd AB = 10 cm,

(o) «3A

AC = 14 :.m? BC = 6 cm then the value of DCis
(A) 2-5cm (B)] 35cm

[C) 45cm (D) 4cm

fin@ ABC #DE || BC wm%ﬁﬁﬂﬁ .afe AC = 55ﬁrﬂeh

AE=7?
a) 429 (B) 3-1%
c) 28%f (D) 213
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[110]

In AABC, DE | | BC such that 22_-3 (f AC = 5.6 cm then AE = ?

DB~ 5
(A) 42cm (B) 3'1em
(C) 2-8cm (D) 2'1cm

afy & wwew fgell ) dm el 1 IEAE 5 ;6 B A IE G F

6.
HITR B
(A)  25:36 B) 5:6
(€) 36:25 D) 15:16
If the ratio of corresponding sides of two similar triangles is5:6
then the ratio of their perimeters Is
(A) 25:36 B) 5:6
(C) 36:25 D) 15:16
7.  AABCH AB= 6J3 @i, AC = 12 8t @1 BC = 6 &t @l /B &M
(A}  45° g\@& (B) 60°
(C) 90° \Q‘z§’ (D) 120°
@Q
In AABC, AB &643cm, AC = 12 cm and BC = 6 cm then ZBis
(A)  45° (B) 60°
() 90° (D) 120°
8. 3R awar e ABC 1 b Y91 12 ¥ 7 wwwg e DEF $1 &
W 6 Tl 8 m[(ni?] )
(A) 21 B) 1:2
iC) 4:1 Dy 2:3
m Page S of 48
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10.

[110]
If one side of an equilateral triangle ABC is 12 cm and onc side of

AABC
equilateral triangle DEF is 6 cm then © __ [(ADEFI? )

(A) 2:1 8) 1:2
© 4:1 D 2:3

AABC @ APQR wuwu e § fd AD, Wi¥ A4 @ Bc w =@ & 7w
PO PA QRW e® §1 TR AD =9 ¥ @@ pr=7 4t ® a4t B

ABC aut fa@ POR % ®3%e1 1 R0 B
(A} 9:7 B 7:9
(C) 16:25 (D) 81:49

AABC and APQR are similar triangles in which AD is perpendicular
from vertex A to BC and PT is perpendicular from vertex P to QR. If
AD =9 cm and PT = 7 cm, then ratio of areas of triangle ABC and

triangle PQR is
(A) 9:7 By 7:9
(C) 16 : 2§ (D) 81:49

% FHTE B A U o 12 3 # & e S evh

A) 642 @A . (B] 643 #ift

(€ 3/6 &dft (D} 66 &

If one side of an equilateral triangle is 12 cm thcrl its height is
(A] 642cm (B) 6v3cm

{C) 3J6cm (D) 6VE cm
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12.

13.

1Y
*

B R ek IR A oML R T D FR

(Al 10 /=t (B) < aift
€ 53 D) 123

The distance berween two paralle] mngents of a circle 1s 10 cm.
Then the radius of the circle is

(Al 10cm (B) 8cm

(€} Sem D} 12cm
2 g9 afe Wi ¥ |} weR Wl w6 @ @ awhn miteed f e w
gt 2

A) 1 B) .2

) 3 (D} 4

( &

If two circles tuuc@ach other externally then what is the number

N
of commaon m@nts :
N
A 1 | 2
cy 3 (D) 4

ﬁﬁﬂﬂﬁﬁqpﬂqaqtmtﬁmamma‘mngmaﬁ
PA-6 T @t PB=

(a) 128 (B) 6uHh

(C) 8& (D} 18%®H
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14,

1.

(110]

Frem an external point P, two tangents PA and PB arc drawn on a
circle, I PA= 6 cm then PB =

(A) 12cm (B 6cm

(C} 8cm | (D) 18cm

a2 3 Wf B R T 3 W w1 witen] W 60° % WA W
& @y soeftE A war R

@) 243 ¥h B A
(€} 343 & (D) 4 &f

I[ two tangents drawn on a circle of radius 3 cm are inclined to

each other at an angle of 60°, then the length of each tangent is

\Q@ (B) —Njcm

(A) 2\/1_3. em g\ >
¥
\Q‘G
(€) 3J3em® (D) 4cm
$

afe sin(20°+8}.=cos30° Dow AT

(A) 30° (B) 40°
[C) 50° (D) 60Q°

If sin{20°+0) =cos30° then the value of 8 is

(A} 30° (B) 40¢
(C} 50° (D) 60°
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17.

18.

19,

[110]
afe aAABCH2C=90° @ sin (A + B) =
A) O B) 1

D) —

J2

If in AABC, Z2/C=90° thensin(A + B) =

1
© 3

(A) o B) 1

(C) (D}

1
J2

13
2

sec®23" -tan223" 42 =

A) o B 1
€ 2 D) 3

af2 xcosB=1,tan 0 = ydl x*- y° WA 3
a) 2 s\-QQ @) o

€ -2 \@;\% o |

N ,
I xcus&=l,@ 6 = y then the value of - ylis

A 2 : By O
c -2 - o

af tms:% A sin 6 =

wln

(A) ®)

(D)

|

(C]

wis  »ls
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[ 110

If tanﬂ:% then sin 0 =

4 . 2
w3 B 3
4 3
(C) 3 (D) =
l+cosA
20 l-cosA
(A} cosecA-col A (B) cosec A+ cotA
(C} cosecA.cotA (D) sin A .tan A

21. tan 5°.tan 25°. tan 30°. tan 65° . tan 857 =

(A) 1 (B) .« /3
1 & 1
>
22. cos 38° cos S5 A sin 38° sin 52° =
$
(A) 1 (B O
c 2 o 3

cosec 42’ y cos37

23. B . L
sec48 sin 53
A) 0O B
3
cy 1 (D) 2
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24.

25.

[110]

TR tan({a + B} =v3 3N tana =71§?ﬁtanpa.1=rﬂi

w 1 B =
1 7
(<) 7 D ¢
If tan({a + B) =J3 and tana =—J% then the value of tan p is
A g ® 3
© = o %
J§ [sin% +c05%] =
(A) V2 | (B).. 2
© 1 . D) 3

\ 2 2
26. ﬂﬁ acos 0+ bsin@=4 T asin®-bcos0=23 @ a“ +b FHAA 2

A 7 B) 16
(C) 25 (D) .36

If acos0+bsind=4 and asin®-bcosf=3 then the valuc of

a? +b%is
() 7 (B) 16
(C) 235 (D) 36
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(110
aiﬁémmwf:y“%“‘ﬁﬁmﬁmmm

27.
A 2y B) Jx iy
() u: x- D) x¥y
The ratio of the arcas of two circles is x2: yz_ Then the ratio of
their radii is
A xy B Jx:y
€) y:x (D) =x:y
28. frdft 99 +1 S0a 49x i At & At I|E | Fl
(A) 7&h (B) 1484
(C) 49 ad (D) © 21 8
The area of a circle is@&9r square-cm. Then its diameter is
() 7cm (B) 1l4cm
(C) 49cm (D) 21cm
29. 5T 4AR Bew F @ kg A A T 2
(A) 400 &t (B) 440 &t
(C) 2888w (D) 388 @+

The distance covered by a wheel of radius 14 cm in S revolutions is

(A) 400 cm (B) 440 cm
(C) 288cm (D} 388cm
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30.

31.

32.

[ 110]
T 7 F AT @ w4 TR R D ) e w1 e

#m
(A 1l B) 2:x
€ =:2 D) Vr:2

If the arca of a circle is equal to the area of a squarc then the ratio

of their perimeters is
(A 1:1 B) 2:=
(C) =m:2 (D) Jx:2

Tfe p[x)=x4—5.x+6113 glx)=2-x ‘Ha P({x}liﬁlﬂlﬂm

Ay 2 (B) 4

€ 1 (D)

(x) .o
If p(x)=x*-5x+6 and q(x)=2- x?, then the degree of P( l

A) 2 By 4
c 1 (D)

frfaf § = Rum wdftee 2

(A) x° -3Jx+2=0 (B) x+31c— =x°

(C) xz+-1§- =5 (D] 2.1'4:2---5,1'f={2|:—l]2

Which of the following is a quadratic equation ?

1 _ .2
A) x*-3x+2=0 (B) x+ =X

2 2
€ xP+—5=5 D) 2x*-Sx=(x-1)
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33.

34

35.

[ 116
afe, feame W x2 4 2kx+4=0 F1 T G 2R AT K F A FM
(A) -1 (B) -2
2 ] D) -4
Il one root of the quadratic equation x” +2kx+4=0 is 2, then the
value of k is
(Al -1 | -2
c 2 D) -4

Ify (x+3), ax®+ x+1 qﬂﬁﬂ'ﬂm@m a 1 9HE &

(A) 3 2
B
2
(C) g D). 8
IT (x+3) is a factor or@g + x+1 then the value of a is
g\\
Al 3 ¥ ]
(A) & B 7
\
$
2
£ @) 9

p & e T F fiu Rum wftem px’-2x+3=0%n§1mﬁrﬁmqé
woE B ?

(A) 1 *

(B) g

C) 3 1
r24[M]—HfS-41001-[suf¢u| Page 14 of 48
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36.

37.

[110]

For what value of p, roots of the quadratic equation px*-2x+3=0

arc real and equal ?

1
(A1 (I

1
€ 3 o 3

fram TR 6x? - 3x+5=0 % g A wHf T AR ?
(A) AAEE @ 3GEA (B) SrEAfy® Td ¥HH

(C) aTEares TEl (D) wH AR A&

what is the nature of roots of the quadratic eguation

6x%-3x+5=07

(A) Recal and uncqugg\\ (B) Real and equal
Q
(C) Not real Q‘&\Q’%
N
Q
afs Frama GHE x4 %-20 =0 F T 49 @ v qHC W T

(D) None of these

(A) 5 (B) -4

(C) -5 (D) 3

: . 2 A )
if one root of the quadratic equation X +x-20=0 is 4 then its

other root is

(A) S B) -4

€ -5 (D} 3

[24(M)-H/S-4 1001-(ea/60)] Page 15 of 48
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1110)
. 4
38, R R G x? +6xr5 <0 3 G o @ A A o +p? F AR
(A) 30 (8) 16
(C) 26 (D) 20

. 2 -
If « and B .are the roots of the quadratic equation X +6x+3 =0

then the value of «? +[32 is
(A) 30 B) 16
(C) 26 (D) 20

39. fium wftFm px®-gx+r=0, p20 F @ €

(Al q t iqz_q.pr q 1 ‘qu +4pr

(B)

2p 2p
€] —qt{qz—-f#pr (D) ~-qt q2+4pr
2p Q 2p

The roots of the Fﬁadratit equation pxz-q.t+r:ﬂ , p#0 are

N
é§§_ ,’ 2
(A qt 4 pr ) qt +4 pr

q
2p 2p
-quq2—4pr -g q2+4pr
(C) 5 (D)
P 2p

40. T x = - 1 a:ﬁ geftemut 2x2+3x+p=0 ath qxj-qx+4={) 6 TH
B A R @ p+ g F HA

(A) 1 (B) -1
) 2 (D) -2
|24[M]-Hj$-41001-munm Page 16 of 48
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41,

42,

[110]

If x= - 11is a common root of both the equations 2x*+3x+p=0
and qx2-qx+4:0 then the value n!'?:u- q is

A1 B -1

(C) 2 (D) -2

ok oW ) Herd, e @ A wuy: 15, 6@ SH A A M E
e i gt S

(A) 20072 B) 2102

(C) 250 ? (D) 220 2

The length, breadth and height of a cuboeid are 15 m, 6 mand Sm

respectively. Then the lateral surface area of the cuboid 1s

2 B). 210 m?
(A) 200m \\Q@ (B)

R 2
(€ 250m? Q\@» (D) 220m
sﬂnﬁgma@@nﬁﬁ4ﬂﬁgmaﬁmﬁmmmmﬁ?
(A) 4 (B) 8
(c) 12 (D) 16

How many cubes of side 4 cm can be formed from a cube of side

8cm?
(A) 4 B) 8
C) 12 (D) 16

e — _
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Emmnmlﬁaimmmﬂmmwm?
w72 ? B 144 T *
() 128%H ° D) 256FH °

Three cubes of metal with edges 3 cm, 4 cm and S cm respectively

are melted to form a single cube. What is the lateral surfacc arca of

the new formed cube ?

(A] 72cm? (B) 144 cm”
(C) 128 em? (D] 256 cm”
44. W Il B Bremall & agum 2 ¢ 3 3R T FARE T oI S5: 3R Al
I AT NG 2
(A) 27:20 & (Bl 20:27
C) 4:9 NS Y
(C) : S (D} ' 40

The radii of two 'ﬁndcrs are in the ratio 2 : 3 and their heights are
in the ratio 55°3. The ratio of their volumes is

(A) 27:20 (B) 20:27
C) 4:9 (D) 9:40

45. IR I F WHY F &A%A 1760 T2 @ aw @A anum ) B
14ﬁ=ﬁﬁeﬁmﬁiﬁéﬁ1ﬂ

(A) 103 (B) 15 @
(C) 20uh (D) 40 &
l24[Ml-H;‘S-4 1001 -is0760) Page 18 of 48
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46.

47.

(110]

If the curved surface area of a cylinder is 1760 em? and its base

radius is 14 cm then its height is

(A) 10cm (B) 15cm

(C)] 20cm (D) 40cm

wh UTY % TRy 6 arw fivn 4 S0 s sriakes frew 3 30 41 AR TR
dag 10 TR | A uig w1 e g

(A) 120 &t ? B) 2208d 3

(C) 440 @i’ (D) 1540 @t *

The external radius of a pipe of metal is 4 cm and internal radius is

3 cm. If its length is 10 cm then the volume of mctal is

(A) 120cm’ (B) 220cm’

(C) 440cm’ (D) . 1540 cm”

af2 Pt Wi 3 smum BT ¢ v TR e ard 1 @, A G T
g &1 AT &

(A) 3 arl (B)

€ awr (D) 2l

I ris the radius of the base of a cone and ! is its slant height then

the curved surface area of the cone 1s

(A) 3 arl (B) mri
(C) =nrl (D) 2 =rl
3
o [24(M)-H/S-41001 eoie0)] Page 19 of 48
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49,

[110|

14 3 =@ TR AP 7 For JAT FAT T
(A) 147 n 0} 2 @ 198 @7
(C] 488 n &t 2 o) 396 n & 2

The total surface area of a hemisphere of diameter 14 ¢m is

(A} 147 n cm? B) 198 ncm?
(C) 488 ncm? (D) 396 = cm?

T OF T WA 1570 A3 31 ol 5w omun #1 SE%d 314 w2 R,

@ ! Fard 2
S\‘QQ
Ay 0@ (B) 15%h
Q
A
$
() 18 @ft (D) 20%H

3

The volume of a cone is 1570 cm™. If the area of its base is

314 cm? then its height is

(A) 10cm (B) 15cm
(C) 18cm (D) 20cm
24(M]-H/S-41001s01e0; | Page 20 of 48
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(110]
50. R @ M h) frowm 2r @ N ww i @
321’”"3 lﬁnra
(A) 3 {B) 3
Q) 8 nr’ b 64 nr?
( 3 (D) 3
[f 2r is the radius of a sphere then its volume is
321'“'3 161‘”’3
(A) 3 (B) L
8 3 64 3
© =5 o ==
51. maaﬁs,-%, 2, ... & 113 9 &1 gm ?
(A) 28 (B). 22
(C) -38 (D)~ —48
\®® 1
What is the 11th ‘g@% of the AP.~ 3,- 7,2, .- ?
N
W 28 B 22
) -38 (D) -48
57, w84 41,38, 35,...,8 i gai A v
A) 12 (B) 14
(C) 10 (D) 15
The number of terms in AP 41,38,35,..,8 is
(A) 12 (B) 14
(D) 15
8 = Page 21 of 48
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- ‘ [llol.

53, WM AR 2, 4, 6, 8, ... 5 YN 50 Tl W A QM
(A) 2500 (B) 2550
(€ 2005 (D) 2000

The sum of first 50 terms of the A.P. 2, 4, 6, 8, ... is

(A) 2500 B) 2550
[C) 2005 (D) 2000
54. fg (247, -3 ) Peuaqutnid»
(A) wum B) e
€ i (D) wgd
The point {247, - 3 ) lies in which quadrant ?
(A) first (B) second
(C) third (D) fourth

55. gl (2cos6,0) 7 (0,25in0) sfHaNgh
(A) 1 B) 2
(C) 3 . (D) 4
The distance between the points { 2 cos 8,0)and {0, 2 sin @ ) is
(A) 1 (B) 2
€ 3 D) 4
24(M) H/S-4 1001 woren
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56.

S7.

S58.

1110 |
W W@ x = - 2 a9 y = 3 % weA fag

A) (-2,3) (B) (2,-3)
€ (3,-2) D) (-3,2)
The intersecting point of straight lines x=-2and y =3 is
(A) (-2,3) B} (2,-3)
€ (3,-2) (D) (-3,2)

fagatt (7,-4)@ (-5 1) fahigde

(A) 12 (B) 13

(C) 11 (D) 5

The distance between the points (7,-4).and (-5, 1) 18

(A) 12 (B)~ 13
™

Q
C 11 N (D) 5
(C) @%

yﬂ&iq{ﬂ%@?ﬁ@[s,—Z}@(—S,QjQWﬁ,ﬁ

) (0,3) B) (-20)

€ (0,-2) D) (2,2)

The point on y-axis which is equidistant from the points ( 5 -2)

and (- 3,2)18

() (0,-2) (D) (2, 2)

-
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29.

60,

110
PORS % T &, formd wid £ (0,01, 0(6, 0) R{6 2]

S(0,2)% @ G F Yacher M
(Al 6 B) 8
€ 16 D) 12

PORS is a rectangle whose vertices are P( 0, 0),@(5 0), R(6,2)

and S(0, 2 ). The area of the rectangle is

A 6 (B) 8

© 16 (D) 12

M A(a,0), B(0,0) T €(0, b) fFft aABC & O § @ AABC I
LEL SR

A b 1
(A} a \\Q@ By Zab
%&6
. 1 2.2 \Q 1
(€) Ea b§Q {Dl -2- bz

If A(2,0), B(0,0) and C(0, ) are the vertices of AABC then the

area of AABC is

(A) ab (B) _é_ﬂb
1 2.2
lcl "2"0 b (D} % b.’E

24{M}-H/S-41001-{6wml
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[110)
g1. frfefEn &« agug adf ¢ »
(A)  x“+45 B) 9x*-4ax+J2
l.a 3_2 3
[C] 21" +§x, +8 (D] x+;
Which of the following is not a polynomial ?
Ay x*+d5 (B) 9x?-4x+v2
© sx°+3x?+8 @) x+3
62. Hg4q [xs +x2+3x] {xﬁ x> +x° +1) <hl 9 %
(A) O B) 6
€ 11 (D) 10
. .
The degree of the polynomial (x> +x° +3x) (x84 x> +x’+1) is
Q
{(A) 5 &g\\ B) 6
NS
© 11 S (D) 10
$
63. g xZ-11 F JIH T
A)  11,-11 (B) 11, -411
) V1T, -J11 (D) V11,11
L2
The zeroes of the polynomial x -11 are
(A] 11’_]1 [B} 11; —m
© A1, -1 o) V11,-11
_#_'_-_— 0
'24{M)-Hj$-4],001—.|m;5m| . Page 25 of 48
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[110|

64. #f&-zu,ai—aﬁtrmingx%(mnxw*wgﬂ
A) a=-2,b=6 (Bf a=2b=-6
) a=-2, b=-6 (D} a=4, b=06
If - 2 and - 3 are the zeroes of the quadratic polynomial

x?+{a+1)x+b, then
A) a=-2,b=6 B) a=2,b=-6
€] a=-2,b=-6 (D) a=4,b=6

65. ‘T&@E x2—9x+aai¥]fqiﬁwm8%ﬁﬂ %1 A gm

Ay 9 - (B) ~ =9
(C) 8 (D) -8
&
N
If the product n@‘&mes of the polynomial x?-9x+a is 8 then the
©

value of a i @Q

(A) 9 B) -9

(C) 8 (D) -8

66. frefofen 4 fee fum age F ymF a W - 23 7

(A) x?-2x-8 B} x%+2x-8
[C) x%-2x+8 (D) x*4+2x+8
24(M)-H/S-41001-(s0/60) Page 26 of 48
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(110

Whll{.‘h of the rO“OWing quadratic le}’ﬂijals has zeroes

4and -27
(A x*-2x-8 (B) x24+2x-8
©  x*-2x+8 D)  x?+2x+8

67. UM wgE p[x]=x2+3xu4%?iﬁﬁsuqﬁ|3€i?ﬁ %ﬂiﬂmﬂ@"ﬂ
{A) -1 By 1
(C) 4 D) -4
If @ and B are the zeroes of the polynomial p(i)=x”+3x-4 then

the value of GTE' is

(A) -1 (B 1
C) &g\@ D) -4
S :
68. ﬂﬁi@aq(%@%w—sﬁlﬁl g(x) H1 Th PGS &

(A) x-=3 (B) x+3
D] ——
€ T3 ) x+3

If one zero of the polynomial g{x) is - 3 then one factor of g{x) is

(A) x-3 (B x+3
1
© 3 (D) —
24(M)-H/S-41001-s0/60) | - Page 27 of 48
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69,

70.

71.

| 110
AR fle)=x?-2x0 = x+2 B g(x)=x?-3x+2 B W fem s 2 &)

WIS &7 T B
(A) 4 3 2
c 3 (D) 1

If fix)=x"-2x>-x+2 is divided by g(x)=x>-3x+2, then the

degree of the quotient is

(A) 4 B 2

Cy 3 D) 1

R W;YE X2 -3(x+1)-5 F T F WP B D (aer1)(p+1) B AA 21
A3 B) -3

€ -4 | D) 4

Il a and p are the zeroes of the polynomial x?-3(x+1)-5 then the

~value of {n+1|{ﬂ+1k\i§§

A) 3 D B8 -3
\Q‘b
© -4 & (D) 4
Q
. wum 2R s s 1 AT 2
(A) 100 (B 10
€] S0 D) 20

The mean of first ten consecutive gdd numbers is
(A) 100 (B) 10

©) s D) 20

—

24(M]-H/S-4100 1-i60/60)
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[110]

72. 15,6, 16, 8, 22, 21, 9, 18, 25 # FTieEw 2
(A) 16 (B) 15
) 21 (D) 8
The median of 15, 6, 16, 8, 22, 21,9, 18, 25 is '_
(A) 16 B) 15
€ 21 D) 8

73. 0,6,5,1,6,4,3,0,26,5, 6% T

A) S (B 6
) 2 (D). 3
™
The mode of 0, 6, 5, 6,4, 3,0, 2,6, 5, § is
N
W s o B) 6
(C) 2 o 3

74. UH SRERA €24 % T W@ g H 48-64 TH 46-52 & @ T

ey &R
(A) 49-70 (B) 49
(C) 50 D) T & HIg TE

24(M)-H/5-41001-60760) Page 29 of 48
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75.

76.

[110]
 ceributi 4864 and
The median and mode of a frequency distribution &rc

46-52 respectively. Then its mean is
(A} 4970 B) 49
(C} SO - (D] none of these

e ata Al x, x+ 2, x4+ 4, x+ 6UE x + BH WA 118 @ x A
B

(A) S B) 6
) 7 (D] 8

[f the mean of five observations x, x +2, x+ 4, x+ 6 and x + 8 is

11 then the value of x is

(A) 5 (B} 6
"~
e 7 D D) 8
&
T REWE wiRrha @1 ghft ?
(Y B 0
€ 1 D) 19 M

What is the probability of an impossible event 7
(Al % B) o
2

© 1 (D) more than 1

|24(M]-HJS-4 lﬂ'ﬂl-puumj
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77.

78.

| 110]
e PE)=0-4 @ P(E') ®1 UM 2
(A} 096 (B) 06
(€) 1 (D) 0-C6
[f P{E)=0-4 then the value of P(E') is
(A] 096 (By 046
<1 D) 006
2 aEl & % § gva giem ) §@
(A) 12 | (B) 20

(C) 36 (D) &

In the throw of two dice the number of possible outcomes 1s

A) 12 (B) 20
(A) \§®
C) 36 &g\ D) 6
Wﬁﬁq@%@ﬂ%ﬂﬂﬁﬂﬂﬂﬁ@%%?
$

(A} 06 B) 15

2
C]  75% D £

Which of Lhe following numbers cannot be the probability of an

event ?
(A) 06 (B) 15
)  75% (D) 752-
24(M)-H/S-41001~t60/601 Page 31 of 48
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[ 110

BO. ¥ T ) T S § R sin 7 o ) W FL 2

(A) o B =

(C) % (D) 1

What is the probability of not getting an odd number in a throw gf

a die once ?

A0 1
(A) B 3
1
{C) 3 D)y 1
81. =l 2a+3b=8T1H 3a-4b=-5% @
(Al a=1,b=2 (B) e=2,b=1
(C) a=-1,p=2 (D). a=2,b=-2
If 2a+ 3b=ﬂandg§®-®4b=‘-5, then
Q
(A) a=1,b§-{§ B] a=2,b=1
D
(C) a=-T'b-2 D) a=2 b=-2

B2. W wifihn g0 2x-3y-8 W 4x -6y-9 ¥

(A)  Em@ (B)] e

(C) fa O} 38 A = 4

The pair of linear equations 2x ~-3y=8 and 4x ~6y=9 ar
= e

(A)  consistent (B)  inconsistent |

(C)] dependent (D] none of thege

24{M)-H/S-41001-wo/e] Page 32 of 4t
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83.

B4.

1110}
Tl 2x+3y=4 T 4x+6y=12 & AE@ fra wHr H T@ @

gl ?
(A) HIT T tErd (B) wWim W& W@
() wh=8d e wmn (D) @ A %7

The graphs of the equations 2x+3y=4 and 4x+ 6y=12 arc which
Lype of straight lines ?

(A) Coincident straight lines

(B) Parallel straight lines

(C) Intersecting straight lines

(D) None of these

arftete A 2x-3y+1.=0 T Bx+y+2=10 SfRpga € ?

K\Q
(A) T IRIFFAGHE. (B W
€ Afasa (D) T A FY T

How many solutions does the system of linear equations
2x-3y+1 =0 and 3x+y+2 = 0 have ?

(A} one and only one solution

(B) no solution

(C} infinitely many solutions

(D) nonc of these

|24[M}-H/S-41001-¢oo;m|? Page 33 of 48
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83.

86.

87.

[”0;
k % fg W ¥ fre wie Bwm xr2y=3 T Sxrky=15 & 3

W2
(A] 5 : | 10
[y 6 (D) 12

For what value of k, has the system of lincar cquations X+2y=3

and Sx+ ky =15 infinite solutions ?

(A} S B) 10
€ 6 (D) 12
Pafofga d S arm 40 2 2
(A)  0-3,0-33, 0-333, ... (B) 1,11, 111, ...
(C) 2,4,816,.. (D). '0,-4,-8,-12,..
Which of the i‘nllngﬁ&?is anA.P.?
N
{A) 03, 0-@@%-333, |8 1,11,111, ...
© 2,438 160" D) 0.-4.-8-12, ..

p i om & R Te (2p+ 1), 13, (5p- 3 ) warm O 8 2 »

Ay 3 B 4
(€] 12 (D) 6

For what valuc of p, terms {2p+ 1), 13, (S5p-3)arcin AP, ?

Download all NOTES and PAPERS at StudentSuvidha.com
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B8.

89.

S0.

[110]
TR o T A 3,8, 13,18, .. M naA @R D ay - F

gm ?
(C) 40 (D} 55

i [
Il @ isnthterm ol AP. 3, 8, 13, 18, ... then what is the valuc o

Qys =g 7
(A) 30 B) 75
(C} 40 (D} 55

Waﬁmwﬁlaiwmsﬁﬂzsﬁﬁﬁﬁﬂﬂﬁm
&m

Ay S N (B). 4
c 3 N o) 6
& -
The 2nd tcmg@égn A P.is L2 and its S5th term 18 25. The common
difference ab%h'c AP 18
(A) 5 (B) 4
() 3 D) 6

7 Aui ¥& F WA n 9@ w AW (5n-n?) R & g & F FA AR
gm

A) 4 B) -2
c) 2 (D) 6
'24(M|'Hf'5'41001180ﬂﬂ|| Page 35 of 48
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91.

92.

IHO]

2 £
If sum of first n terms of an A.P. is (5n-n") then the commg,

difference of the AP, is

(A) 4

B) -2

(C) 2 (D) 6

64 16

81 Yo °
(A) dfthg FEn (B) qfda g@n
(C) quils wem (D) STFa GE&

64 . [16 .

B1 + —g- 18
(A)  Rational number (B) . Irrational number
(C]  Aninteger \\Q® (D} Natural number

S
amﬂﬂvﬁ@+ﬁﬂm 3-J5 & UAGHA Th U

D
(A) oTET = (B) 3wfig Tem
(C) qortss wen (D) WEFa e
The product of two irrational numbers 3+J6 and 3 J5 will be
- wi
a/an
(A) Rational number (B)  Irrational number
(C] Integer (D)

Natural number

24(MI-H/S4 00 - eoree] Page 36 of 48
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n (110 ]

(0-3 + 0-4 ) % FEAY &9 3

93.
7 7
A 16 (B) 3
7 7
© 37 D I3

The simplest form of [0-5 + O-E] 1S

R I T
7
© =4 D) o5

94, TR 156=2"x3Yx13Z AWM x+y+z=

(A} 4 . (B) S
c 3 D) 6
lf156i=21x3y115g($ enx+y+z=
¥
(A) 4 @Q‘G (B) 5
(c) 3 B (D) 6
9s. J10 xJ15 2
(a) gfoa E& (B) Wi T
() quis aaw (D) ¥TFd EE&A
J10 xJ15 is
(A) Rational number (B) Irrational number
(C) I[nteger (D) Natural number

'24[M)-Hf8—41001-m;u1| Page 37 of 48
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96.

97.

98,

Illﬁ|

znfs,.. & FaH 0-105 7 forar 1 FHaT 2
(A) 21 B 21
22 % 59’ l ] 23:¢ 53
(C) 21 21
3. o2 O =
"n the form of ——£— 0105 can be written as
wh
21
{A) 21
(C) 21 21
27 % 52 () 2x 5
Eﬁaﬁmaﬁiﬂﬂa'ﬂn=253ﬂlﬁcﬂo =50%ﬁm3ﬁmm
B
Q
(A) 1250 O B) 1150
S
(C) 1350 &‘b’ (D) 1050
If H.C.F. D

offtwo numbers = 25 and L.C.M = 50 then the product of

numbers will be

e ¥ TR = bger b=61,9=277Y , =

(A) 1250
(C) 1350
B i

(A} 1679
(C} 1669

(B] 1150

(D} 1050

32 A M qw IR

(B 1600
(D) 1696

e ————".
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f

Q9.

100.

(110 |
I in division algorithin a-bqsr, b = 61, g = 27 and r = 32, then

what 18 the value of g 7P

(A) 1679 (B) 1600
(€ 1609 D) 1696

afe g v@ e quls B @) Seaffe § @ @ e qurts: A 2

(A)  6g+ ! M) 6q+ 2
(€} O6g+a D) 6q+6

: ive
Il q is o positive integer, which of the following is an odd positl

integer ?

Al 6g+ | (B} ~6g+ 2
(A q sg\@
N
(C) 6g+4 ‘z§’ (D) 69+6
N

il
Q) v e w1 Howo B ¥
A) O | 1
c) 2 Dy 3

The H,C.F. of two consecctitive odd numbers 18

A 0 (B} |
) 2 (D) 3
e e, e o
24(M]-11/S-41001 -60/60) | Page 39 of 48
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_ [llgl

g - @ / SECTION - B

Hq m o l{ Shﬂ'l’t Angwgr TYPC Q“Elﬁﬂnﬁ

?fs:’ﬁ#ﬁ,?? JSW*WE'J%

15#2:30

Wy waar 1#@ 30 7% oy IAre o

w¥ & g 2 5 fatfa i

ons. Ans
Question Nos. 1 to 30 are Short Answer Type Quesiio wer an,,

, 15x2<
15 questions. Each question carries 2 marks. 30

1. mﬁgmmémmaﬁﬁmﬁﬂﬂiﬁ%m“ﬂ-“‘”'ﬁl@
(-8, -2)8 2

Find the area of the triangle, whese vertices arc (0,49),(3,6)ang

(-8, - 2) respectively.

2. TR F*E : cosec 39° cos 51° + tan 21° cot 69° - sec?21° 2
Evaluate : cosec 39“ cos 51° + tan 21° cot 63° - sec” 21°.

3. g #t % sec %ﬁ:&n‘ﬂ ~1+2tan®8. 2
Prove I.hal%@c 0 tan® 0=1+2tan’0.

4. fag=tfs (V242 & sfog den # | 2
Prove that (+2 +2)* is an irrational number.

5. oo agw « —3%mmmaﬂu@ﬁaﬁnm%ﬂa%w
# wegan 1 w9 F 2

Find the zeroes of the quadratic polynomial x% -3 and verify the
relationship between the zeroes and the co-efficients.
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ﬂ i'ng. x* _2x—x+2 ﬁing 2 -3x+2 @ uym 3

g

10.

11.

| 110 ]

2
Divide polynomial xt-2x®-x+2 by the polynomial x?-3x+2.
meﬂmﬂmaﬂzszqiswmnmomﬂt 2
Using Euclid division algorithm, find the HCF of 252 and 594.
I 2
frfafaa Afwz] &1 o 3@ =t
i | 12
10
= 4 6 8 s
ARER 4 8 14 11 3
__.-________—--—J
Find the mean of the following data : .
Variable 4 6 8 10 - -
Frequency 4 8 14 L1

' % 4
ﬁgﬂﬁﬁmaﬁmzlqﬂ%m:ﬂmaﬁmwﬁqﬂ%

2

4 nft Y ght W R

A circle is of radaus\@&n. Find th
circle, which 1s at %%@sl.ance 4 cm {ro

uﬁa@ﬁla%&—smfzmmmqﬂmw@aﬁa@a

2

¢ length of that chord of the

m centre of the circle.

Al

If one zero of the polynomial (a+2 }x2 _3ax-2 is negative of other

then find the polynomial. h
aﬁaﬁmﬁﬁqmm%ﬁﬁﬁﬂﬁﬂsgﬁlﬂftﬁwﬂgiﬁaz?ﬁ
ﬁw%iﬁﬁmmﬂtlym%ﬁmﬁﬂmﬁlﬁl 9

The sum of the digits of a two-digit number is 9. If 9 is added to the

number the digits of the number arc reversed. Write the equation

for these statements,

Page 41 of 48
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13.

14,

135.

16.

17.

[ 110,

wHie gm V2 x+J/3y =0 M J3x-8y =0 ﬁgﬁwmm
fafu @ 7@ =1 2

- =0 '
Solve the pair of cquations ﬁx-l-ﬁy -0 and ﬁx J—B_y by
the method of substitution or elimination.

@ g ) 7w, e @ Sad waw: 26 1, 14  aw 65 A @
TN 1 IR i AEhe wn dm 2 2

The length, breadth and height of a cuboid are 26 ™. 14 m and

6'5 m respectively. Find the latcral surface area of the cuboid.

%mim%wmémmmqm:z&ﬁrzma%tﬁa .y
wor & Brom ) S T+ 2

The curved ;urfacc area and volume of a cylinder are 264 m’ and
396 m* respectively. Find the radius and height of the cylinder.

et wig & R A e 77 it aw dard 21 At 2 A OF F AR
fararet ) -2
The basc rading’of a cone is 747 cm and its height is 21 cm. Find

the volumex&! the cone.

afe fedft A.P. 3 YoM 14 91 1 4M 1050 § 71 3WHI 9UH 92 10 R A
20 91 7€ A Hi| y)

If the sum of the first 14 terms of an A.P. is 1050 and its first term
is 10, find the 20th term.

WAL FTm 2 wAm A ® Swd gd s 72 sl 229 w
149 B 2

Find the sum of first 22 terms of an A.P. in which common
difference is 7 and 22nd term is 149,

[24(M)-H/S-41001-(60760) Page 42 of 48
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18.

19.

20.

21.

22.

23.

24,

| | 110 |
MWABCﬂmHmai?ﬁﬁmﬁﬁﬁﬂmmsﬂﬂﬁd
'Ji_:lﬂm” 2

Each side of an cquilateral triangle ABG is a. Provec that the

R @R 0x? _6xe] 0 ¥ R¥ed g W @ e gE A TH
=T 2

Find the discriminant of the quadratic cquatio

alutudc of the triangle is

n Qx?—ﬁx-t-l =0

and hence find the nature of the roots.

k % fe wE % Ry Ram wiem (ke 1)x? - 2(k=1jx+1=0 ¥
T g ? 2
For what wvalues of k has the
UHHIQ -2{k-1)x+1=0 equal roots ?

ﬂﬁﬁﬂﬂa.P.w?hmmha\ﬂqzm:4am-aiﬂ’fwA.P.EFT
HH-| W2 Y 2 2

Il the 3rd and theé9th terms of an A.P. are 4 and - 8 respectively,

quadratic cquation

which term ofthis A P, is zero ?

¥ T8 97 % R #fE ke y=1 M (k+1)x+2y=3 F H3 g
7 g 2

For what value of k, equations kx+y=1 and (k+1)x+2y=3 have

no solution.
4tan245" +cos? 30" -sin® 60" F.HA I H 9

Find the value of 4tan? 45" +c0s? 30" —sin?60".
aftetr x+L-3, x20 F el ¥ A R >
X

Find the roots of the equation x+%=3, xz0.
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20,

27,

28.

29,

30.

[110]
af2 #id A 8 BC

2

AABC W Trigang g & Rradan= AC = 13 84 2

oA U s R s 5 9 @) @ Bo B dwd @ R
ch AB = AC = 13 cm. If the

AABC 3s an isosceles triangle in whi
BC is 5 ¢m, find the

length of perpendicular from the vertex A Lo
length of BC,
x w1 P R forg ol P, 4) @ Q(9,10) % T H gl

10 T 78 R 2

Find the value of x for which the distance between the points

Pix, 4) and Q(9, 10} is 10 unils.
Regafl (-3, 10) 3 (6, - 8) F g) T Y F1 fag (- 1, 6) F6R

Far 8 faurfam axar @ 2 2

In what ratio cim:s the point ('— 1, 6 ] divide the line segment joining
the points (-3, 10 ) and { 6, - 8) ? ‘httpsi//www.bsebstudy.com
% 15 M o @ Fan F wm 60° w1 FW A ¢ SR 7 W g #

ﬁﬁmaﬁﬂﬁ‘éﬂaﬂa@ﬁwﬁwﬁ%l 2

A ladder 15 m to@ makes an angle of 60° with the wall. Find the
height of lhe&ﬁ?ﬁ on the wall where the ladder touches the wall.

w ot 1 e ) g N owd 15 I 21 20 B % o A9 fE
TR A% 2

The length of the minute hand of a clock is 15 cm. Find the area
swept by it in 20 minutes.

2 ol F T T S @ @) T F I I o odm oo @ wd
w213 & yifdea @ gl 2

Two dice arc thrown at the same time. Find the probability that the
sum of the two numbers appearing on the top of the dice are more
than 9.
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| 110]
e T W | Long Answer Type Questions

T G 31 ¥ 38 A T W §1 gl @ P 4 o & IW T S
g & fow 5 o fratfia ¥ 4x5=20

Question Nos. 31 to 38 are Long Answer Type guestions. Answer any

4 questions. Each question carries 5 marks.

s it W 3x-Sy+1=0 a9 2x—y+3:0 H HEE d@fd 3t
T FI 5

31

J2.

33.

34,

4x5=20

] ' — d
Draw the graph of the pair of linear equations 3x~5y+1=0 an

2x -y +3=0 and solve them.
@mﬂmwmzﬁoaﬂﬁm%lnﬁéﬂﬁsmﬁaﬂ!_

aﬂ;@zﬁamzﬁﬁmwmﬁmmmmﬁm
3 <rerd P 5

The arca of a rectaggular Ticld is 260 square metre. Il
it becomes a

its length

becomnes 5 metre-less and breadth 2 metre more,
square field. Find the length and breadth of the rectangular field.

Rre % R 3 Tt By 3 el o1 S TR HA g & &

3 ¥ wE g 2| 5

Prove that the ratio of the arcas of two similar triangles is equal 10

the ratio of the squares af their corresponding sides.

3 |
g X 5 =€ 0, == 0 - secOcosecOd (secO + cosecO ).
SCCQ 0-1 cosec 0~ 1

S

sec’0 cosec 0
sec20-1 cosec 0-1

= sec( cosec() [ secD + cosecl ).

Prove that

_______———-—__'___—-—'— -
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(a2
T .,

36.

37.

110
m?mmzntﬂm:{qgm@amtﬂmﬁmgw

F T T A e 22 ) 14 A AN O T TN TR T TR
%) 91 I w4 3

A 20 m deep well with diameter 7 m is dug and the soil from
digging is evenly spread out to form a platform of 22 m x 14 m.

Find the height of the platform.
ﬁm%m—ﬁ%ﬂ@m%ﬂwﬂmmaoogwm%

o fag ¥ dan % firgy & 7w ww 60° 31 TR A oso @ St @ A
Wﬁiﬁm}mﬁl 5

The angle of clevation of the top .of a building from the foot of a
lower is 30° and the angle of elevation of the top of the tower from

the foot of a buildirigis 60" If the tower is 50 m high, find the
height of the buiiding.

4 afl, 5 WAGSR 6 FN Yl T & Arya H @+t ol R e
mmmmﬁmﬁmﬁmmﬂwﬁmgmaﬂﬁ
%ﬂﬂﬂl 5
Construct a triangle of sides 4 cm, S cm and 6 cm and then

construct an another tniangle similar 10 it whose sides are 2 of the

" correspanding sides of the first tniangle.
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| 110 ]

1] - HAIA

80-85

85-90

90-95

95-100

100-105

105-11Q

110-115

AR

a3

27

85

155

110

43

15

Find the mode of the [ollowing distribution :

110 |
Class- | B0-85 | 85-90 | 90-95 | 95-100 | 100-105 105-11
interval :
4
Frequency | 33 27 a5 155 110
#
™
g\
N
Q
N
=S

110-115

1S

—
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